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PC11 Factoring Assignment Solutions    
 

1. Factor 𝟑𝒙𝟐 − 𝟑𝒙 

𝟑𝒙(𝒙 − 𝟏)  

 

2. Factor by pulling out the GCF:  

𝟖𝒙𝟔𝒚𝒛𝟑 − 𝟏𝟐𝒙𝟑𝒚𝟒𝒛𝟒 + 𝟔𝒙𝟐𝒚𝟒𝒛𝟓  

𝟐𝒙𝟐𝒚𝒛𝟑(𝟒𝒙𝟒 − 𝟔𝒙𝒚𝟑𝒛 + 𝟑𝒚𝟑𝒛𝟐)  

 

3. True or False:   

a. (𝒂 + 𝒃)𝟐 = 𝒂𝟐 + 𝒃𝟐 

False 

 

b. 𝒙𝟐 + 𝒚𝟐 = (𝒙 + 𝒚)(𝒙 − 𝒚) 

False 

 

c. 𝒙𝟑 + 𝒚𝟑 = (𝒙 + 𝒚)(𝒙 − 𝒙𝒚 + 𝒚𝟐) 

True 

 

4. Factor 𝒃𝟐 − 𝟐𝟓 

(𝒃 + 𝟓)(𝒃 − 𝟓)  

 

5. Factor 𝟏𝟎𝟎𝒙𝟐 − 𝟒𝟗𝒚𝟖 

(𝟏𝟎𝒙 + 𝟕𝒚𝟒)(𝟏𝟎𝒙 − 𝟕𝒚𝟒) 

 

6. Factor 𝟐𝒙𝟑 − 𝟓𝟎𝒙 

𝟐𝒙(𝒙𝟐 − 𝟐𝟓)  

𝟐𝒙(𝒙 + 𝟓)(𝒙 − 𝟓)  

 

7. Factor 𝒙𝟐 − 𝟐𝒙 − 𝟏𝟓 
(𝒙 − 𝟓)(𝒙 + 𝟑)  

 

8. Factor 𝟔𝒙𝟐 − 𝒙 − 𝟏𝟓 

Rainbow method: 

𝒙𝟐 − 𝒙 − 𝟗𝟎  

(𝒙 −
𝟏𝟎

𝟔
) (𝒙 +

𝟗

𝟔
)  

(𝒙 −
𝟓

𝟑
) (𝒙 +

𝟑

𝟐
)  

= (𝟑𝒙 − 𝟓)(𝟐𝒙 + 𝟑)   

 

9. Factor −𝟒𝒙𝟐 − 𝟐𝟔𝒙 − 𝟏𝟐  

−𝟐(𝟐𝒙𝟐 + 𝟏𝟑𝒙 + 𝟔)  

−𝟐(𝟐𝒙 + 𝟏)(𝒙 + 𝟔)  

 

10. Factor 𝟏𝟎𝒙𝟐 − 𝟏𝟒𝟎𝒙 + 𝟑𝟑𝟎 

𝟏𝟎(𝒙𝟐 − 𝟏𝟒𝒙 + 𝟑𝟑)  

𝟏𝟎(𝒙 − 𝟏𝟏)(𝒙 − 𝟑)   
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11. Factor 𝟏𝟐𝒙𝟐 + 𝟏𝟗𝒙 − 𝟐𝟏 

(𝟑𝒙 + 𝟕)(𝟒𝒙 − 𝟑)   

 

12. Factor 𝒙𝟐(𝒙 + 𝟑) + 𝟒(𝒙 + 𝟑) 

(𝒙 + 𝟑)(𝒙𝟐 + 𝟒)   

 

13. Factor 𝒙𝟐(𝒙 − 𝟓) + (𝟓 − 𝒙)(𝟐𝟓) 

𝒙𝟐(𝒙 − 𝟓) − (𝟐𝟓)(𝒙 − 𝟓)    

(𝒙 − 𝟓)(𝒙𝟐 − 𝟐𝟓)  

(𝒙 − 𝟓)(𝒙 + 𝟓)(𝒙 − 𝟓)   

(𝒙 − 𝟓)𝟐(𝒙 + 𝟓)  

 

14. Factor (𝒙𝟐 − 𝟒)
𝟐

− (𝒙𝟐 − 𝟒) − 𝟏𝟐   

𝒂𝟐 − 𝒂 − 𝟏𝟐  
(𝒂 − 𝟒)(𝒂 + 𝟑)  

(𝒙𝟐 − 𝟒 − 𝟒)(𝒙𝟐 − 𝟒 + 𝟑)  

(𝒙𝟐 − 𝟖)(𝒙𝟐 − 𝟏)  

(𝒙𝟐 − 𝟖)(𝒙 + 𝟏)(𝒙 − 𝟏)    

 

15. Enrichment:  Factor 𝟐 𝐜𝐨𝐬𝟐𝜽 + 𝟑 𝐜𝐨𝐬 𝜽 − 𝟐 

𝟐(𝐜𝐨𝐬 𝜽)𝟐 + 𝟑(𝐜𝐨𝐬 𝜽) − 𝟐  

𝟐𝒂𝟐 + 𝟑𝒂 − 𝟐  

(𝟐𝒂 − 𝟏)(𝒂 + 𝟐)  
(𝟐 𝐜𝐨𝐬 𝜽 − 𝟏)(𝐜𝐨𝐬 𝜽 + 𝟐)  

 

16. Factor 
𝒙𝟐

𝟒
− 𝟐𝒙 + 𝟑 

𝟏

𝟒
(𝒙𝟐 − 𝟖𝒙 + 𝟏𝟐)  

𝟏

𝟒
(𝒙 − 𝟔)(𝒙 − 𝟐)  

 

17. Factor 𝝅𝟔𝒙 − 𝒆𝟐 

(𝝅𝟑𝒙)
𝟐

− 𝒆𝟐  

𝒂𝟐 − 𝒆𝟐  
(𝒂 + 𝒆)(𝒂 − 𝒆)  

(𝝅𝟑𝒙 + 𝒆)(𝝅𝟑𝒙 − 𝒆)   

 

18. Factor by grouping:  𝟔𝒙𝟑 + 𝟑𝒙𝟐 + 𝟖𝒙 + 𝟒 

𝟑𝒙𝟐(𝟐𝒙 + 𝟏) + 𝟒(𝟐𝒙 + 𝟏)  

(𝟐𝒙 + 𝟏)(𝟑𝒙𝟐 + 𝟒)  
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19. Find the possible values of 𝒌 such that  

𝟒𝒙𝟐 + 𝒌𝒙 − 𝟔 can be factored 

(𝟒𝒙 + 𝟏)(𝒙 − 𝟔) = 𝟒𝒙𝟐 − 𝟐𝟑𝒙 − 𝟔 → 𝒌 = −𝟐𝟑  

(𝟒𝒙 − 𝟏)(𝒙 + 𝟔) = 𝟒𝒙𝟐 + 𝟐𝟑𝒙 − 𝟔 → 𝒌 = 𝟐𝟑  

(𝟒𝒙 + 𝟐)(𝒙 − 𝟑) = 𝟒𝒙𝟐 − 𝟏𝟎𝒙 − 𝟔 → 𝒌 = ±𝟏𝟎  

(𝟒𝒙 − 𝟔)(𝒙 + 𝟏) = 𝟒𝒙𝟐 − 𝟐𝒙 − 𝟔 → 𝒌 = ±𝟐   

(𝟒𝒙 − 𝟑)(𝒙 + 𝟐) = 𝟒𝒙𝟐 + 𝟓𝒙 − 𝟔 → 𝒌 = ±𝟓  

(𝟐𝒙 + 𝟏)(𝟐𝒙 − 𝟔) = 𝟒𝒙𝟐 − 𝟏𝟎𝒙 − 𝟔 (same 𝒌 value)  

(𝟐𝒙 − 𝟏)(𝟐𝒙 + 𝟔) = 𝟒𝒙𝟐 + 𝟏𝟎𝒙 − 𝟔 (same 𝒌 value)  

(𝟐𝒙 + 𝟐)(𝟐𝒙 − 𝟑) = 𝟒𝒙𝟐 − 𝟐𝒙 − 𝟔 → 𝒌 = ±𝟐 (same 𝒌 value)  
𝟖  unique 𝒌 values 

 

 


